September 26, 2014

National Stock Exchange of India Limited
Exchange Plaza,

Bandra Kurla Complex,

Bandra (East), Mumbai - 400 051

BSE Limited
Phiroze Jeejeebhoy Towers,
Dalal Street, Mumbai - 400 001

Sub: Voting Results for the resolution passed at the Fifty-fifth Annual General
Meeting held on Friday, September 26, 2014

Dear Sir,
Pursuant to Clause 35A of the Listing Agreement entered into with Stock Exchanges, we

enclose herewith the voting results declared for the resolutions passed at the Fifty-fifth
Annual General Meeting held on Friday, September 26, 2014.

® Date of AGM : September 26, 2014
° Total number of shareholders on : 55,797
record date
° No. of shareholders present in the meeting either in person or through Proxy:
» Promoter & Promoter Group 9 (7 through Authorised
Representative)
> Public : 102
e No. of shareholders attended the meeting through Video Conferencing;:
> Promoter & Promoter Group Nil
» Public ; Nil
° The details of resolutions passed in the Annual General Meeting is enclosed

as Annexure A

Kindly take above on record and acknowledge receipt.

Thanking You,

CEAT Limited, RPG House, 463, Dr. Annie Besant Road Worli, Mumbai 400030,
T+ 9122 24930621 (B) 24938933 (F) www.ceat.in
CiN No.: L25100MH1958PLC0O11041
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